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> restart : with{ plots) : with( plottools) :
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a = xX-Cos(x) :
b = plot(a, x =-Pi ..Pi, color = blue, thickness=4) :
display(b);
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d = diff (a,x);
d = cos{x) —xsin{x)
egn = d=0,
eqn = cos(x) —xsin(x) =0
solnl = fsolve(egn.x.-2..0) :
soln2 = fsolve(eqn, x,0..2) :
solnl, soln2,
-0.8603335890, 0.8603333890

eval(a, x=solnl);

~0.3010963382
eval(a, x =soln2);

0.5610963382
g = plot(d, x =-Pi..Pi, color = red, thickness=2) :
display(b, g);
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Answers -

b) Domain: xe R

¢) Critical numbers: x ~ —0.86 and x =~ (.86

d) - local minimum value is ./'(—0.86) =-0.56:
- local maximum value is f(0.86)=0.56;
- the function is decreasing on [—7[, —O.86]U[O.86.7r] and increasing on [—0.86, 0.86]




